¥ 3% M7 B R OB LR, £ (3X7) JIAD  —fEEX

B T T & % RO 5 e I5mAM | 15~64% | 65%LlL
w® # 55,287 147,994 75,434 72,560 23,952| 111,039 113,003
R JH if) 49 114 64 50 12 82 20
< J1 1 T H 561 1, 646 833 813 317 1,193 136
< J 2 T B 863 2,087 1,058 1,029 302 1,544 241
03 T B 495 1,093. 553 540 114 849 130

)M 4 T H 222 489 248 241 46 378 65
H oD B 1,974 5,337 2,644 2,693 889 4,098 350
it i iy 574 1,323 666 657 189 966 168
/& £ 1 T H 329 816 398 418 123 598 95
B £ 2 T H 346 979 485 494 127 705 147

W £ 3 T H 681 1,766 839 877 242 1,265 259
7 £ B&H 930 2,158 1,145 1,013 297 1,595 266
s £ B 4 T H 11 29 18 11 7 20 2
fs £ BT 5 T H 764 2,159 1,101 1,058 278 1,614 267
fE E R 1 T H 268 625 299 326 66 443 116
fa & R 2 T H 389 892 440 452 106 614 172
e £ R 3 T B 609 1,351 696 655 211 962 178
B £ ® 4 T H 351 862 440 422 157 632 73
fs £ ® 5 T H 711 1,581 855 726 186 1,226 169
fsE £ K 6 T B 764 2,273 1,157 1,116 435 1,707 131
iz & 1,284 3,965 1,956 2,009 529 3,161 275
2 ® 1. T B 415 898 464 434 113 651 134

B ® 2 T H 461 1, 260 656 604 153 924 183
E ® 3 7T H 287 731 403 328 143 528 60
BE ® 4 T H 325 832 420 412 99 602 | 131
2w 4A 1 T H 713 1,495 795 700 201 1,107 187
BE & 2 T B 310 631 346 285 112 462 | 57
B & 3 T8 655 1,412 738 674 148 1,093 171
AN HF 2,420 7,325 3,743 3,582 1,637 5, 350 338
o B 1T B 351 815 424 391 107 656 52 |
N B 2 T H 469 1,146 556 590 140 872 134
/N A 4@ 3 T B 854 1,928 962 966 240 1,416 272
N M B 4 T H 438 1,032 507 525 136 757 139
N H 5 T H 950 2,716 1,381 1,335 745 1,948 23
N B 6 T-B 747 1,611 860 751 233 1,240 138
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T F 4 i G N~ ¢ 5 e IBRERM | 15~64% | 65MLlLE
N # 7 T H 881 2,210 1,108 1,102 321 1,733 156
7 # 8 T H 1,478 4,441 2,212 2,229 771 3,488 182
N % 9 T H 793 2,071 1,017 1,054 256 1,532 283
N T 1,153 3,385 1,732 1,653 571 2,579 235
743 T 2,486 6, 260 3,221 3,039 1,019 4,663 578
1 i} 2,633 7,164 3,737 3,427 1,231 5, 447 486
BT 6,481 19,013 9,562 9,451 3,328 14,471 1,214
F =45 1 7T H 710 1,899 954 945 309 1,469 121
F &2 &5 2 T H 1,343 3, 380 1,713 1,667 513 2,620 247
x oy T 24 58 27 31 4 37 17
X & 1 T B 631 1,912 994 918 436 1,316 160
X & 2 T E 511 1,241 656 585 150 939 152
X & 3 T E 543 1,375 722 653 201 1,037 137
X B 4 T H 434 1,136 575 561 146 870 120
X & 5 T H 364 992 479 513 108 794 90
X & 6 T H 129 368 194 174 53 279 36
# W 1 T H 789 1,679 783 896 174 1,127 378
# M 2 T H 559 1,419 730 689 257 1,006 156
# W 3 T H 446 1,603 813 790 580 991 32
# M 4 T H 305 647 323 324 66 464 117
# W 5 T H 741 1, 624 905 719 252 1,201 171
E Ry 2, 659 7,841 4,034 3,807 1,226 5,911 704
= T 1,709 5,093 2,611 2,482 1,026 3,732, 335
#K T 536 1,689 803 886 162 1,301 226
g B 783 1,494 847 647 171 1,141 182
& = 311 685 351 334 96 474 115
= T 3, 224 9, 393 4,714 4, 679. 1,277 7,169 947
IR if] 278 709 376 333 145 525 39
N HT 783 1,836 1,041 795 263 1,465 108




